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- Addition of an excess of AgNO3 to a 0.5012g sample yielded a mixture of AgCl and Agl that weighed

0.4715g. The precipitate was then heated in a stream of Cl7 to convert the Agl to AgCl. The precipitate
was found to weigh 0.3922g after this treatment. Calculate the percentages of KI and NH4Cl in the

sample. If the weights measured have a relative standard deviation of 0. 1 %, what will be the standard
deviations for the calculated percentages of KI and NH4Cl. (10%)

- Describe "in detail” the procedures for preparing onc liter 0.01M standard EDTA solution from reagent

grade NagHp.2H90. (10%)

. Give definitions or explain the fol.lowing terms: (10%)

1) confidence level, 2) sensitivity,
3) end point, 4) noise

. For the reversible reaction:

Ox +4Ht +2¢7 = R
the half-wave potential is -0.349V at a dropping mercury electrode from a solution buffered to pH 2.5.
Predict the half-wave for this reaction at pH 3.5. (8%)

- For the voltammetric studies of the following electrochemical reaction. Please select the preferred

clectrode from a)Hg, b)pt, and c)C. Give your reasons for your choice. (4%)
MM +eaM  E®= +1.05 V (vs SCE).
@A +¢ 2A" E°=-1.20 V (vs SCE).

. Define Liquid Junction Potential and describe its effect on electrochemical methods. (4%)

- What are the requirements for a solvent to be used for voltammetry (or polarography) experiments ?

4%),

BB R T R B MR S G R85F F=KC (F: fluoresence power, C:

concentration of analyte) FFEMASLEIEES FALK] - (10%)

- BALLMR UM U628 (Fourier transfoorm instrument) FIRAE A BB - (10%)

RALLIBSAIRYBNT (gas chromatography), #fM#H7(liquid chromatography), K iBEE FFIaIEHT
(supercritical fluid chromatography) {ESMMEHIE « SMMkSCE < SERIREY R » A6RNARIE, -
(10%)

AR TSI (packed column) B2 B 2 (open tubular) EAEAL AT H: PR B R (N) R » A
BRI - (10%)

PRI - TR PERBATIR S50 2 TR B T RS ?
(5%)

W @OBAERZBBL
(D) S Ry
BREBA S FERTHRE  RERBT? (5%)
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